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 𝑎𝑖𝑗

𝑨 =  [𝒂𝒊𝒋]

a𝑖𝑗 = {
1, if p𝑖 and pj are linked directly, edge 

0, in every other case

a𝑖𝑗 = {
1, if there is an edge from p𝑖 to pj 

0, in every other case

[

𝑎11 𝑎12 𝑎13

𝑎21 𝑎22 𝑎23

𝑎31 𝑎32 𝑎33

]

[
0 1 0
0 1 2
0 3 0

]



 B= [bij]

bij= {
1,   if  ej is not loop edge and it interlocks with pi 

0,  in every other case

[
0 1 0
0 1 1
0 1 0

]

𝑏𝑖𝑗 = {

1, if 𝑒𝑗  is not a loop edge and its starting point is 𝑝𝑖  

0, if 𝑒𝑗  is loop edge and it does not interlock with 𝑝𝑖

−1, if 𝑒𝑗 is not edge loop and its starting point is 𝑝𝑖   

[
0 1 0
0 1 −1
0 −1 0

]

𝐴𝑘 = 𝑎𝑖𝑗
[𝑘]

𝐴2 = 𝑎𝑖𝑗
[2]

= ∑ 𝑎𝑖𝑠 ∗ 𝑎𝑠𝑗
𝑚
𝑠=1

𝐻𝑘 = ℎ𝑖𝑗
[𝑘]

= ∑ 𝐴𝑛

𝑘

𝑛=1

𝐻2 = 𝐴1 + 𝐴2

𝐻3 = 𝐴1 + 𝐴2 + 𝐴3 = 𝐻2 + 𝐴3

𝑠𝑖𝑗
[𝑘]

=  {
1, if from 𝑝𝑖 node we can get to 𝑝𝑗  via 𝑘 step 

0, via 𝑘 step it can’t be reached 

∗

𝑍 = 𝑠𝑖𝑔𝑛 ∑ 𝐴𝑛

𝑚

𝑛=1



|  | 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 


